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(A)3x% —7x+3=0
(B)3x%2 —7x+1=0
(C)3x2 —7x—1=0
(D)3x%2 —7x—3=0
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(A)L,:1011x +2022y =336 -~ L,:
(B)L,:1011x + 2022y =336 ~ L,:x+2y=5
(C)L,:1011x + 2022y =336 ~ L,:337y=—674x+112
(D)L, :1011x + 2022y =336 ~ L,:337x+674y=112
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(A)dk(ab,c)iF &% - %
(B) #(a+b,c)F &% = %
(C)& & (ca,b) &% = %2
(D)% & (c+a,b)f% & % = % 2
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(A)PR: L R C#h 2 Bl CengE 3t 5 12

(B)P%: & R C# & R Cehped 5 8

(C)PE: L FICP & FICengE# 5 25437

(D)PE:- & FICP & FlCehiedt % 37 -5

<

A F S G
(A)sin(167°) = —sin(13°)
(B) cos(247°) = cos(23°)
(O)tan(327°) = tan(33°)
(D)sin(487°) = cos(37°)
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(A)U ==+(7,-24)

(B)u = +(15,20)

(C)u =+(20,15)

(D)u =+(24,7)
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(A)-405
(B)-45
(C)135
(D)1215
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18y <15x-10

5x+6y>-8
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18y >15x-10
5X+6y>-8
18y >15x-10

wx=10°% + y=107F s pl Lot b S g 7
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(A)4x+5y—-63=0

(B)4x—-5y+20=0

(C)5x+4y—-57=0

(D)5x -4y +7=0
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(A)B v b~ 70 gk 4 (-1,-25)
(B)B v & 1+ ~ 7 B4R (—1,25)
(C)B v & T ~ 7 8445 (1,25)

(D)BE © % T ~ 7 g 4R (1,-25)
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(A)36.52 ¢
(B)49.8 = ¢
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